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Please adhere to the following items when using our products. Due to their condition of
use, springs can scatter upon breaking and be a cause of injury.

Please do not use TF with a deflection exceeding Free length x 50.0 %

- Please do not use TL with a deflection exceeding Free length x 40.0 %
- Please do not use TM with a deflection exceeding Free length x 32.0%
- Please do not use TH with a deflection exceeding Free length x 24.0%
- Please do not use TB with a deflection exceeding Free length x 20.0 %

- Please install the spring in a slightly compressed condition (state of initial pressure).

{EAREETUTER. ERAAERY, GRRENREEN EESHASHE.
- TF §{E RS ER I B B x50.0%
- TL BYE AEBEAR A 81T B B x 40.0%
- TM BHE REFHEERT BB B % 32.0%
- TH fE AERERT BT B B x 24.0%
- TB Y& FAESBEAR T #81T B H1E x 20.0%
- R ETER, NEREETERIORS

(BHUEMRE) TER.

-—
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F Lightest load #zF/\fafs

) . Free length X 40.0% Free length X 45.0% Free length X 50.0%
Outside | Inside | Free | Spring Constant 1,000,000 cycles 500,000 cycles 300,000 cycles
Model Diameter | Diameter | length Py~ amkxgop% 100F% amte>f45.9% 507K aﬂafex.so.p% 307K
(mm) | (mm) | (mm) | (N.“mm) i (kgf/mm) (mm) N {kef} (mm) N {kgf} (mm) N {kgf}
TF 8 X 10 10 | 1524 {155} | 4.0 45 5.0
15 15 | 10.16  {1.04}| 6.0 6.8 75
20 20 | 762 1078} 80 9.0 100
25 25 | 6.10 {062}| 10.0 11.3 12.5
30 30 | 508 {052} 120 13.5 15.0
35 35 | 436 {044}| 140 158 175
40 40 | 381 {039} 16.0 180 20.0
45| 8 | 4 | 45| 3.39 :{035}| 18.0 |5:'08} 20.3 |67866} 225 {78865}
50 50 | 3.05 {0.31}| 20.0 : 22.5 : 25.0 '
55 55 | 277 {028} 220 248 275
60 60 | 254 {0.26}| 24.0 27.0 30.0
65 65 | 235 {024}| 26.0 29.3 325
70 70 | 218 [022}| 280 315 350
75 75 | 203 {021}| 300 : 338 375
80 80 | 191 {0.19}| 320 36.0 40.0
TF 10 X 20 20 9.81 :{1.00} 8.0 9.0 10.0
25 25 | 7.85 {080} 100 11.3 125
30 30 | 654 {067} 120 135 15.0 |
35 35 | 561 {057} 14.0 15.8 17.5
40 40 | 491 {050}| 16.0 18.0 20.0
45 45 | 436 {044}| 18.0 203 225
50 0l s 50 | 3.92 {040}| 200 : 785 225 @ 883 250 @ 98.1
55 55 | 357 {036} 220 : {80} | 248 {90} | 275 {10.0}
60 60 | 327 [0.33}| 240 27.0 30.0
65 65 | 3.02 {031} 260 293 325
70 70 | 280 {029}] 280 31.5 35.0
75 75 | 262 {027}] 300 33.8 37.5
80 80 | 245 {0.25}| 320 | 360 | 400
90 90 | 218 {0.22}| 36.0 405 450
1N = 0.102 Kgf Load (N) = Sprmg Constant(N/ mm) X Deflectlon (mm)

1N (&:45) = 0.102 Kgf (F5)

785 (N) = 3 (N/mm) X E458 (nm)
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